Gmbmaoncs dan 2,222 #2.

[Brom! ek
(1) = # waysa ohose. K Slemers Ram 1 gossibilities
= Nl _ n(n-D- (o
K (- KO- 2| (0)
Casaa\s tnande o
asa\S ’:ﬂ ) o) ()
) G) G &
Loz 5 G G G

BN I CING RGO

2+ 3 ) + 3 ('4) (3) + 3)

=6 _-:(';E) — (V\-b " (\(l-—l)
%k).,.V& %1}“3 %m?}
1z 3 &
X 12
); X E (3) + (31) 2
X X 1%
X K 73
A Ko 2K
R
|
‘ : (X—\-‘ﬂ = | ( 2, |
| 2 | (o)t = X+9 \ 2> 3 |
o2 2 |

A - C><+‘13 = X +2¢0t 9
5 10 1 s ) (R = K2 & 262 £ 3%q



e = @ (D™ + D yZ e+ By

= (k) (x4yy"
o™ = (B R (DK (P KB
% [(’i;‘) S ("T‘)X“'Zcq # (") K j
Y [("5‘) S U"\")Xﬂ'zv] + (") x“'sulz-e—,;
{ 2.
LR = () Ay DA
- -
Dt = K+ thx?y -I—6><?'724f"§’>a13+ tf*
’ X=) [4:\
(Y =28=16 (R y) R (XD (X +4)
O ®
® @
Cxwy v .
Fe o o
LRy X
X% q Y ¢ °
@ @
|
.‘ l
| 2 | | =
I N2 2 | 42 =3
N8 N4 1+2¢2 26
> WS ) (+2423¢% = [0

Il 2z 2 4% 5 6 39=U
oM | 2 - n n N _ (el
1~ 2(n+l) -2 _(Z>



[ 2 %2 & 5 6 7 Y-L—;(m\)-r-%{nﬂ): (o)
(ch’XUce’ﬁY [$2+%. -4V

N4\
\~{ L \ nﬁ) (m-()
J 3
| €R) =142+ ..AN = (“{\)
—1 \ )= "+ 2+ .+ M
F@)= P2 F 4 =
@ @ @ ()= ‘F(\)
C}JF(% = lim  fG&-T60 | e* M
¢-0 ¢ .
c)(sofe\t ALy = Flnr) —T () o™
(€=1) ") Z M

AR) = (-0 (0= G+ ()

= () ()= R+ G
Q,

n _— g

A (y{b = (v\l»\)



whay 15 =L ze_sl ¢
AE@) = FOR~TMy= n+

=W
= = (D+OV+ ¢
€)= 1+2=2 > = (2)+(%) + 0O
1 2
D = (%)

[ 0 gq n-Otn svmuebhe mahees
e F

1\ nime)) 3¥_ 1z =C
n=3 z z Z
G ogbccetr

| ttaw many, mopomele 32 S 0 @G’

(N 2 S T T S S
[ S T A A

e N\e N S Qe U X A

( 5 10 0 S )
=% | xYyz XY,Z,XYXg42
I,

/
\ | >



2
=)
Ry, ©
1+2¢2 =6 oY
253 = 10 X, ‘@@

@@X« Hak aqowmﬂ

G ¢ (L) [oe{TTT!
sl 0 tend et
x?' tz |e] | o {[f|e®
(12. ‘ l.‘[ 'YK ‘ ’
uz (_Jele| |(|e|(|e
z \"J—L—w U tede,
n o’ 5@35 <n—|+c\> (n \+d>
n=7%, d \aes J+Z n
/,%,6,10 ($> 2 B
Boe. Bunglew olavstics g‘—r"—'}
A B
?| AB| ' o-|
Alg B 2 |

EERC A



